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= 4,793,061
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= 120,500
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= 1,205,000
=S 120,500
01 XN BSELES 1,325,500 1,325,500 0
O338 HAXRY(ZESR) 1,325,500
= 1,205,000
< 120,500
SSEHAXE (XX 2) 721,500 665,500 56,000
[ 655,000
= 66,500
308 XM SOIE 721,500 665,500 56,000
[ 655,000
= 66,500
01 AXH B2 LS 721,500 665,500 56,000
O338 dAXA(RER) 721,500
s 655,000
s 66,500
AU A 2 A X2 9,955,000 9,185,000 770,000
207 ARl 85,000 85,000 0
01 = 85,000 85,000 0
OARIBA BE=RE2S B9 85,000
307 212t01 & 9,870,000 9,100,000 770,000
00 2FSHEXS 9,870,000 9,100,000 770,000
OAl2tA HEXIA 9,870,000
ALHA 2HAAMY X 13,414,265 12,273,000 1,141,265
= 13,131,065
= 283,200
207 ARl 270,000 423,000 153,000
= 54,000
= 216,000
01 1= 270,000 423,000 153,000
Okt~ 2E5EUES SE8EY 270,000
= 54,000
= 216,000
307 212+01& 1,000,000 1,000,000
09 2+LAE2ELES 1,000,000 1,000,000
OALHSOHEHA HEAHIAMNE XIS 1,000,000
308 XXM SO0l 11,144,265 10,850,000 294,265
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£ 67,200
403 X SHMSAH=01H 1,000,000 1,000,000
01 AR A =2 £ 1,000,000 1,000,000
OAlLHsOEHA THHIXEAIH 1,000,000
LEUSIOHE A OtelX XN 225,640 43,500 182,140
= 225,640
308 XX HMSO0IA 225,640 43,500 182,140
= 225,640
01 HASHHBSEEXS 225,640 43,500 182,140
Og2suSIHte A OtelXl K& 225,640
= 225,640
CHHA 2R 25 1,033,559 3,374,217 A\2,340,658
= 310,698
= 722,861
207 ARl 400,000 3,374,217 N2,974,217
== 120,000
= 280,000
01 A S| 400,000 800,000 A400,000
OFEEE dbA SHIB2ACIAAE
= 400,000
= 120,000
= 280,000
307 el2tol & 633,559 0 633,559
= 190,698
= 442,861
0 2=EHEXS 633,559 0 633,559
O dHAZHEZAAY HAHED| S
AMAE DESE 633,559
< 190,698
= 442,861
SAled 2ARE A 5,585,000 4,968,370 616,630
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= 3,285,500
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CEEEE 7L 17,922,500 16,776,000 2,146,500
CROEAIE &3 17,922,500 15,776,000 2,146,500
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